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All Candidates'

performance across questions

Question Title N Mean SD Max Mark FF Attempt %
1 351 3.3 1.8 6 55.4 97.2
3 346 5.5 4.7 15 36.9 95.8
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.


Answer Task 1, Task 2 and Task 3.

A first attempt at producing a HTML webpage to advertise a phone recycling company is shown

Wanted!
Your old mobile phone for cash!
Click to visit www.phonerecycle.co.uk

Here at PhoneRecycle we can pay you for
your old working mobile phones. We recycle
the components and refurbish handsets ready
for their next use. Please visit our website for
a quote today!

The webpage was then improved using various HTML tags to provide the formatting shown

Wanted!

Your old mobile phone for cash!

Click to visit www.phonerecycle.co.uk

Here at PhoneRecycle we can pay you for
your old working mobile phones. We recycle
the components and refurbish handsets ready
for their next use. Please visit our website for

a quote today!

Open the file phonerecycle.txt using a basic text editor. Insert the required HTML tags that would
be needed to display the formatting shown in the improved webpage. Save your completed work

as Finalphonerecycle.txt
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<html=

=body=

=p==center=<hl=Wanted!=/hl=</center=</p>

=p==center=<b=<i=Your old mobile phone for cash! =/i=</b=</center=</p=

=p=<=center=Click to visit <a href="http://www.phonerecycle.co.uk"=www.phonerecycle.co.uk=/a=</center=</p>

=p=Here at PhoneRecycle we can pay you for your old working mobile phones. We recycle the components and refurbish
handsets ready for their next use. Please visit our website for a2 guote <bs<u=today!</bs</u=</p>

=/body=

=/html=



<html=

=body=

=p==center=<hl=Wanted!=/hl=</center=</p>

=p==center=<b=<i=Your old mobile phone for cash! =/i=</b=</center=</p=

=p=<=center=Click to visit <a href="http://www.phonerecycle.co.uk"=www.phonerecycle.co.uk=/a=</center=</p>

=p=Here at PhoneRecycle we can pay you for your old working mobile phones. We recycle the components and refurbish
handsets ready for their next use. Please visit our website for a2 guote <bs<u=today!</bs</u=</p>

=/body=


Sticky Note
This example has successfully used the correct HTML tags to achieve the desired formatting. 
The correct use of <html> and <body> were welcome additions but not required for full marks this year. This demonstrates a good understanding of using HTML tags to achieve formatting within a web page. 
Full marks were awarded here. 


<html=

<head=

<hl=<h=<"center"=Wanted!</"center"=</b=</hl=</br=

=/head=>

=body=

=/br=

<pr=i=<"center"=Your old mobile phone for cash!</"center"=</i=</b=</br=
=fbr=

="center"=Click to visit =a href = "www.phonerecycle.co.uk" /= www.phonerecycle,co.uk=/a==/"center">=/br=>
=p=

Here at PhoneRecycle we can pay you Tor your old working mobile phones.
We recycle the components and refurbish handsets ready for their next use.
Please visit our website for a quote <b=<u=today!</u=</b=

=fp=

</body=

=fhtml=



<html=

<head=

<hl=<h=<"center"=Wanted!</"center"=</b=</hl=</br=

=/head=>

=body=

=/br=

<pr=i=<"center"=Your old mobile phone for cash!</"center"=</i=</b=</br=
=fbr=

="center"=Click to visit =a href = "www.phonerecycle.co.uk" /= www.phonerecycle,co.uk=/a==/"center">=/br=>
=p=

Here at PhoneRecycle we can pay you Tor your old working mobile phones.
We recycle the components and refurbish handsets ready for their next use.
Please visit our website for a quote <b=<u=today!</u=</b=

=fp=

</body=

=fhtml=


Sticky Note
This example had some issues with some tags. Notably the centre tag is within inverted commas, which prevent it being processed correctly. Also note the anchored hyperlink has a trailing forward slash. This was seen as an example of “C grade” work and was awarded 4 out of 6 marks. 


=p style="text—-align: center;"=<b> Wanted! =/b=</p=
=p style="text-align: center;"=<b=<i> Your old mobile phone for cash! =/ be</i></p>

=p style="text—align: center;"> Click to visit www.phonerecycle.co.uk =/ a==/p>
=p= Here at PhoneRecycle we can pay wou for your old working mobile phones.

We recycle the components and refurbish handsets ready for their next use.
Please wisit our website for a quote <b style= "Bold;"=today! </b=</p=



=p style="text—-align: center;"=<b> Wanted! =/b=</p=
=p style="text-align: center;"=<b=<i> Your old mobile phone for cash! =/ be</i></p>

=p style="text—align: center;"> Click to visit www.phonerecycle.co.uk =/ a==/p>
=p= Here at PhoneRecycle we can pay wou for your old working mobile phones.

We recycle the components and refurbish handsets ready for their next use.
Please wisit our website for a quote <b style= "Bold;"=today! </b=</p=

=


Sticky Note
Example 3 had incorrectly used the anchor tag and had not used the underline nor H1 tag. This was awarded 2 marks for correct use of bold and italic tags and centering of required text. 


Task 2 [9]
A diving competition calculates the final mark for each dive based on the marks of six judges.
Each judge awards a mark individually (up to a maximum mark of 6.0).

The highest mark and the lowest mark are recorded but not used to calculate the final mark.
The final mark is calculated by adding the four remaining marks together and dividing by four.

Using a basic text editor, write an algorithm, which inputs six judges’ marks and outputs the
lowest mark, the highest mark and the final mark. Save your completed algorithm as
DivingAlgorithm.txt

For example, with inputs:

5.9
6.0
5.9
5.7
5.6

5.7

The output would be:
Highest:

6.0

Lowest:

5.6

Final Mark:

5.8

© WJEC CBAC Ltd. (4342-01) Turn over for Task 3.



Highest = B
Lowest=0b
Final Mark=@
For i=1 to i=6
Input Mark
ITf Mark = Highest
Mark = Highest
EndIf
IT Mark = Lowest
Mark = Lowest

EndFor

Final Mark = (Sum -| (Highest + Lowest) /4)
Output Fimal Mark

Output Highest

Output Lowest



Highest = B
Lowest=0b
Final Mark=@
For i=1 to i=6
Input Mark
ITf Mark = Highest
Mark = Highest
EndIf
IT Mark = Lowest
Mark = Lowest

EndFor

Final Mark = (Sum -| (Highest + Lowest) /4)
Output Fimal Mark

Output Highest

Output Lowest


Sticky Note
Question 2 required candidates to read a brief introduction to a problem and write an algorithm to provide the desired outputs. The question was generally answered very poorly. However example 1 provides an excellent attempt at an algorithm to solve the problem set. It correctly inputs data. It uses a loop (for i) and selection (if statements) correctly. It then carries out the required calculations (disregard highest and lowest mark and divide remainder by 4) to calculate the final mark. It then outputs the marks. This was awarded 8 out of a possible 9 as it did not output any “labels” as was required by the question 
(Output “Highest =” Highest etc). This example shows a clear understanding of algorithm design and use and was very pleasing to see at GCSE level. This was work that was seen to be at the A/A* boundary. 


First_score = input

highest_score = first_score

lowest_score = first_score

second_score = input

If second_score > highest_score
highest_score = second_score

endif

if second_score = lowest_score
lowest_score = second_score

endif

third_score = input

If third_score > highest_score
highest_score = third_score

end if

if third_score < lowest_score
lowest_score = third_score

endif

fourth_score = input

If fourth_score > highest_score
highest_score = forth_score

end if

if fourth_score = lowest_score
lowest_score = fourth_score

endif

fith_score = input

If fith_score = highest_score
highest_score = fith_score

end if

if fith_score < lowest_scaore
lowest_score = fith_score

endif

sixth_scere = input

If sixth_score » highest_score
highest_score = sixth_score

end if

if sixth_score = lowest_score
lowest_score = sixth_score

endif

Final_score = (first_score + second_score + fourth_score + fith_score + sith_score - lowest_score - highest_score)/4

Print "Highest:" highest_score

Print "Lowest:" lowest_score

Print * Fimal Mark: " Final_score




First_score = input

highest_score = first_score

lowest_score = first_score

second_score = input

If second_score > highest_score
highest_score = second_score

endif

if second_score = lowest_score
lowest_score = second_score

endif

third_score = input

If third_score > highest_score
highest_score = third_score

end if

if third_score < lowest_score
lowest_score = third_score

endif

fourth_score = input

If fourth_score > highest_score
highest_score = forth_score

end if

if fourth_score = lowest_score
lowest_score = fourth_score

endif

fith_score = input

If fith_score = highest_score
highest_score = fith_score

end if

if fith_score < lowest_scaore
lowest_score = fith_score

endif

sixth_scere = input

If sixth_score » highest_score
highest_score = sixth_score

end if

if sixth_score = lowest_score
lowest_score = sixth_score

endif

Final_score = (first_score + second_score + fourth_score + fith_score + sith_score - lowest_score - highest_score)/4

Print "Highest:" highest_score

Print "Lowest:" lowest_score

Print * Fimal Mark: " Final_score @



Sticky Note
Example 2 demonstrates some understanding of algorithm construction with the candidate attempting to solve the problem set. However there are clear misunderstandings and the lack of a loop leads to an inelegant and confused solution. It also has an error in the final_score calculation, which would result in it always outputting an incorrect value. This was awarded 4 out of the 9 possible marks. For input, comparison, divide logic and output. This was seen  as an example of “C grade” work. 


input all six marks from judges
or

input mark from judge
input mark from judge
input mark from judge
input mark from judge
input mark from judge
input mark from judge

[= R R PRI S

out put highest number inputed

out put the lowest number inputed

and

collect remainding four numbers and add them togther and then divided them by four to get fimal mark
output final mark



input all six marks from judges
or

input mark from judge
input mark from judge
input mark from judge
input mark from judge
input mark from judge
input mark from judge

[= R R PRI S

out put highest number inputed

out put the lowest number inputed

and

collect remainding four numbers and add them togther and then divided them by four to get fimal mark

output final mark


Sticky Note
This example was seen at the F/G boundary. The algorithm is incomplete with mainly English sentences taken from the question. However, it does show some basic understanding and was awarded marks for the divide logic and output statement 


Task 3

(@

(b)

(c)

(d)

(e)

(f)

(®)

(h)

Open the WJECCrabs scenario in
Greenfoot.

Populate the world with a crab and
some wombats.

Edit the wombat so that it turns and
moves randomly.

Edit the program code to make the
crab move in the direction of the
arrow keys when pressed.

Edit the crab so that it “eats” a
wombat (removes the wombat from
the world) if they collide.

Add a sound which will play every
time a crab “eats” a wombat.

Scenario Edt Cortrol  Help

Saa | prn | Onee | e —— ——— = |

Add a counter and edit the crab’s code so that the counter displays how many wombats

the crab has “eaten”.

Save your completed world as FinalWJECCrabs

END
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| Ea Share...

World classes

N
ﬂ WombatWorld

Actor classes

[} Act| | p-Run | | @) Reset| Speed: | \/

! | Compile

l,:'**
* A method that checks if there is a wombat present in the cell that the crab is currently in,
* and if so, eats it.

*/
public vold checkForWombat()
{
Actor theWombat = getOneObjectAtOffset(@,d,Wombat.class);
if (theWombat != null)
i
WombatWorld eatingWorld = (WombatWorld) getWorld();
eatingWorld. removeObject(theWombat);
Greenfoot . playSound(“pop.wav"); plays a 'popping' sound when a wombat is eaten.
bumpCounter({l);
1
}
SrE

* A method that accesses the world's counter and bumps it by a specified integer.
s
public voild bumpCounter(Cint bumpAmount)
{
WombatWorld counterWorld = (WombatWorld) getWorld();
Counter theCounter = counterWorld.getCounter();
theCounter. bumpCount(bumpAmount);



|"meort greenfoot.*;, // (World, Actor, GreenfootImage, Greenfoot and MouseInfo)
import java.awt.Color;

yill

*

public class Counter extends Actor
{

private int totalCount = @;

//Creates a variable for storing the counter's count wvalue.
/‘lt
* A constructor for the counter, which sets the counter's intial text image.
b4
public Counter()
{
setImage(new GreenfootImage( 'Wombats Eaten: " +totalCount, 2@, Color .WHITE, Color.BLACK));
1
;t*
* Increase the total amount displayed on the counter, by a given amount.
*/
public void bumpCount(int amount)
{
totalCount += amount;
setImage(new GreenfootImage( Wombats Eaten: " + totalCount, 28, Color .WHITE, Color.BLACK});
1




| Ea Share...

World classes

N
ﬂ WombatWorld

Actor classes

[} Act| | p-Run | | @) Reset| Speed: | \/

! | Compile

=

l,:'**
* A method that checks if there is a wombat present in the cell that the crab is currently in,
* and if so, eats it.

*/
public vold checkForWombat()
{
Actor theWombat = getOneObjectAtOffset(@,d,Wombat.class);
if (theWombat != null)
i
WombatWorld eatingWorld = (WombatWorld) getWorld();
eatingWorld. removeObject(theWombat);
Greenfoot . playSound(“pop.wav"); plays a 'popping' sound when a wombat is eaten.
bumpCounter({l);
1
}
SrE

* A method that accesses the world's counter and bumps it by a specified integer.
s
public voild bumpCounter(Cint bumpAmount)
{
WombatWorld counterWorld = (WombatWorld) getWorld();
Counter theCounter = counterWorld.getCounter();
theCounter. bumpCount(bumpAmount);


Sticky Note
The object collision detection was in evidence and used the elegant code below:

Sticky Note
Example 1 completed all required tasks within question 3. The code included logically written code for the wombats to randomly change direction and move around the world. The crab could be controlled using the keyboard as required.


=l

|'i.mp0rt gr‘eenfoot.*; (World, Actor, GreenfootImage, Greenfoot and MouseInfo)
import jova.awt.Color;

yill

*

public class Counter extends Actor
{

private int totalCount = @;

Creates a variable for storing the counter's count walue.
’(ﬁ(ﬁ(
* A constructor for the counter, which sets the counter's intial text image.
b4
public Counter()
{
setImage(new GreenfootImage( 'Wombats Eaten: " +totalCount, 2@, Color .WHITE, Color.BLACK));
1
’f**
* Increase the total amount displayed on the counter, by a given amount.
*/
public void bumpCount(int amount)
{
totalCount += amount;
setImage(new GreenfootImage( Wombats Eaten: " + totalCount, 28, Color .WHITE, Color.BLACK});
1



Sticky Note
The candidate clearly annotated all code and demonstrated a very sound understanding of object-orientated programming. 

Sticky Note
The example also successfully implemented an on-screen counter. The code for this is below. 


[ 3] share..

rWorld classes

£
WombatWorld

rActor classes

Actor

¥ Wombat

’I

Counter

[m] [W] [m] Speed: |‘=kk_)|=“|

Compile

move(Greenfoot . getRandomNumber(2));
turn(Greenfoot . getRandomNumber{98));




public woid act()
{
if (Greenfoot.isKeyDown{"up"J)
move (1)
if (Greenfoot.isKeyDown("down"))
move (-1);
if (Greenfoot.isKeyDown("left"))
{turn (-987;
move(l);}
if (Greenfoot.isKeyDown("right"))
{turn (967;
move(l);}
Actor Wombat = getOneObjectAtOffset(d, @, Wombat.class);
if(Wombat != null) { '
getWorld().removelbject{Wombat];
Greenfoot.playSound( " pop.wav");
totalCount = totalCount + 1;
¥

ublic int aettotalCounti



[ 3] share..

rWorld classes

£

WombatWorld
rActor classes
£

[m] [W] [m] Speed: |‘=kk_)|=“|

Compile

=]

move(Greenfoot . getRandomNumber(2));
turn(Greenfoot . getRandomNumber{98));



Sticky Note
In example 2 the world starts de-populated and the code within wombatworld to pre-populate the world is absent. The wombat does move and turn in a random way using the below code: 


[:] public woid act()
{
if (Greenfoot.isKeyDown{"up"J)
move (1)
if (Greenfoot.isKeyDown("down"))
move (-1);
if (Greenfoot.isKeyDown("left"))
{turn (-987;
move(l);}
if (Greenfoot.isKeyDown("right"))
{turn (967;
move(l);}
Actor Wombat = getOneObjectAtOffset(d, @, Wombat.class);
if(Wombat != null) { '
getWorld().removelbject{Wombat];
Greenfoot.playSound( " pop.wav");
totalCount = totalCount + 1;
¥

ublic int aettotalCounti

=l


Sticky Note
However the counter is not implemented and totalcount is unused later in the code. This was awarded marks for the crab and the wombat but not for the world and not for the counter. This was seen as work on the “C-Grade” boundary. 

Sticky Note
The crab can also move around the world as required:


Share...

rWorld classes

T
WeombatWorld

rActor classes -

;.> Act

(W e (@ et

Speed:

]J

Compile

public wvoid act()

{
}

move();




public class crab extends Actor
{
'f**
* Act - do whatever the crab wants to do. This method is called whenever
* the 'Act' or 'Run' button gets pressed in the environment.
*f
public wvoid act()
{
if (Greenfoot.isKeyDown{"right"))
turn{9a;;
if (Greenfoot.isKeyDown("left"))
turn{-9@);
if (Greenfoot.isKeyDown{ "up”J]
move(1l);
if (Greenfoot.isKeyDown("down"))
movel{-1);
}
public void eat()
{

}



: .
= Act| | ] Pause| | @) Reset| Speed: | o

[ | i Compile

public void act()
{ move(];

}
(=)


Sticky Note
Which moves the wombat to the right of the screen where it stays. 

Sticky Note
Again the world starts empty and the code required to populate the world is missing. The counter is not implemented at all and neither is sound nor object collision detection. There is no random movement code with the wombat using: 

Sticky Note
In this example only very basic code is seen:


=

public class crab extends Actor
{
'f**
* Act - do whatever the crab wants to do. This method is called whenever
* the 'Act' or 'Run' button gets pressed in the environment.
*f
public wvoid act()
{
if (Greenfoot.isKeyDown{"right"))
turn{9a;;
if (Greenfoot.isKeyDown("left"))
turn{-9@);
if (Greenfoot.isKeyDown{ "up”J]
move(1l);
if (Greenfoot.isKeyDown("down"))
movel{-1);
}
public void eat()
{
}
}



Sticky Note
As this was the only working code seen this was awarded only a few marks and was seen as work on the F/G boundary. 

Sticky Note
The crab movement is however implemented using the following code: 
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UNIT 2

Task 1 | Answer MAX 6

One mark for each correct pair of tags in the correct location:
i.e.

<h1> </h1>

<center> </center>

<b> </b>

<a href="url”> </a> (Note http:// is required or the link will not
work correctly on many devices)

Accept either <p> or <p> </p> (No need to close p)
Accept alternative tags e.g. <big></big> instead of
<h1></h1>, etc

Accept alternative solutions which work. (Only if the identical
formatting would be achieved.)

<htmI><body>

1(centre)
<center>

1(h1)
<hl>Wanted!</h1>

1(pbi)
<p> <b><i> Your old mobile phone for cash! </i></b></p>

1
<p> Click to visit <a href="http://www.phonerecycle.co.uk/"> 1

www.phonerecycle.co.uk </a></p>

(Note: One mark for a href
One mark for http://)

</center>

<p> Here at PhoneRecycle we can pay you for your old working
mobile phones. We recycle the components and refurbish 1 (ub)
handsets ready for their next use. Please visit our website for a
guote <b><u>today!</u></b></p>

</body></html>

Note: Condone missing <htmlI> and <body> tags.
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Task 2

Answer

MAX 9

Declare JudgeMark=0
Declare maxMark =0
Declare minMark=6
Declare total=0
Declare FinalMark=0

1 Repeat (fori=1to 6)
2 input JudgeMark

3 if JudgeMark>maxMark

4  then maxMark=JudgeMark
5 endif

6 if JudgeMark<minMark

7  then minMark=JudgeMark
8 endif

9 total=total+JudgeMark
10 Until 6 loops (end for)

11 total=total-minMark
12 total=total-maxMark
13 FinalMark = total/4

14 output “Highest:”

15 output maxMark

16 output “lowest Mark:”
17 output minMark

18 output “Final Mark”
19 output FinalMark

Line numbers not necessary Ignore
indentation or lack of it.

Accept alternative solutions as long as they
provide the exact same result.

Condone no variable declaration

(awarded at line 10)
1 (input)

1 (IF mark or award
for line 6)

1 adding total
1 (loop mark)

1 (discard lowest)
1 (discard highest)
1 (divide logic)

1 (output text —
award for any valid
output)

1 (output —any valid
variable)
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Task 3

Answer

MAX 15

11-15 Marks

The candidate has produced a complete
working solution to the task. The program is
written efficiently and has been compiled. Crabs
turn left, right, up and down on key press and a
sound is played when a wombat is eaten. A crab
eats the wombat when they collide, adding to
the counter. The program has been written
coherently, technical terms have been used
correctly, the meaning is clear and there are no
errors in spelling and punctuation.

Only award 15 if all tasks completed correctly
(including naming of files correctly and all tasks
implemented fully)

6-10 Marks

The candidate has produced a working solution.
The program has been compiled but one or
more of the elements is missing or incomplete.
Technical terms have been used correctly, the
meaning is clear and there are few errors in
spelling and punctuation.

Trivial syntax errors that prevent compilation of
an otherwise functional solution should not be
penalised.

1-5 Marks

The candidate has produced a partial solution to
the task but there is some evidence of
functionality. Technical terms, where used, are
correct, but there are significant errors in
spelling and punctuation.

Only award 5 if the file is saved as
FinalWJECCrabs

0 Marks

No valid response

Total Marks for Paper:

30 Marks

GCSE COMPUTER SCIENCE MS Summer 2014
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